

UNIVERSITY OF EDUCATION, WINNEBA ST. LOUIS COLLEGE OF EDUCATION ACADEMIC AFFAIRS OFFICE



P. O. Box 3041, Mbrom-Kumasi

Email: assessment@slce.edu.gh Website: www.slce.edu.gh OFFICIAL TRANSCRIPT OF ACADEMIC RECORD

STUDENT NAME: RUFAI ZAINAB **INDEX NUMBER:** 202158076

GENDER: FEMALE **DATE OF BIRTH:** 18-Sep-1999

PROG: B.ED UPPER PRIMARY EDUCATION

PERIOD: SEP2020 - NOV2024

MinTCR: 171

CGPA: 3.59

FINAL CLASS: FIRST CLASS

	YEAR 1 SEMESTER 1 RESULTS					
COURSE CODE	COURSE TITLE		CREDITS	GRADE	GRADE SCORE	GRADE POINT
EBC111	FOUNDATIONS OF EDUCATION GHANA		3	B+	3.50	10.50
EBC114	LEARNING, TEACHING AND APPLYING NUMBER AND ALGEBRA		3	C+	2.50	7.50
EBC112	INCLUSIVE SCHOOL-BASED ENQUIRY		3	B+	3.50	10.50
EBC113	INTRODUCTION TO INTEGRATED SCIENCE I		3	В	3.00	9.00
EBS113	INTRODUCTION TO LANGUAGE AND LITERACY		3	A	4.00	12.00
EBC115	FOUNDATIONS OF SOCIAL STUDIES AND TVET		3	C+	2.50	7.50
GPD122	AFRICAN STUDIES 2		3	A	4.00	12.00
STS 111	BEGINNING TEACHING I		3	B+	3.50	10.50
	TOTAL		24			79.50
GPA:		3.31	CGPA:	3.31		

YEAR 1 SEMESTER 2 RESULTS					
COURSE CODE	COURSE TITLE	CREDITS	GRADE	GRADE SCORE	GRADE POINT
EBC121	INTRODUCTION TO ICT	3	Α	4.00	12.00
EBC122	TEACHING, LEARNING AND APPLYING GEOMETRY AND HANDLING DATA	3	Α	4.00	12.00
EBC126	COMMUNICATION SKILLS	3	C+	2.50	7.50
EBC123	INTERSECTION OF PHYSICAL EDUCATION SPORTS MUSIC AND DANCE	3	В	3.00	9.00
EBC127	PEDAGOGY GROWTH, DEVELOPMENT AND LEARNING	3	Α	4.00	12.00
EGS123	INTRODUCTION TO INTEGRATED SCIENCE II	3	A	4.00	12.00
GPD231	LIBERAL STUDIES®	3	B+	3.50	10.50
STS121	STS BEGINNING TEACHING II	3	Α	4.00	12.00
	TOTAL	24			87.00

GPA:	3.63	CGPA:	3.47

	YEAR 2 SEMESTER 1 RESULTS					
COURSE CODE	COURSE TITLE		CREDITS	GRADE	GRADE SCORE	GRADE POINT
PBB232	MULTIMEDIA DEVELOPMENT USE FOR UPPER PRIMARY		3	Α	4.00	12.00
EBC234	INTRODUCTION TO ENGLISH LANGUAGE		3	Α	4.00	12.00
PBI231	INTEGRATED SCIENCE I FOR UPPER PRIMARY®		3	Α	4.00	12.00
EBC233	LITERACY: TEACHING SPEAKING AND LISTENING		3	В	3.00	9.00
PBM231	THEORIES OF LEARNING MATHEMATICS FOR UPPER PRIMARY		3	B+	3.50	10.50
PBS231	GHANAIAN IDENTITY CULTURE AND ARTS		3	Α	4.00	12.00
PBB231	DIFFERENTIATED PLANNING LEARNING FOR UPPER PRIMARY		3	Α	4.00	12.00
EBC231TW	PRINCIPLES AND RULES OF WRITING A GHANAIAN LANGUAGE		3	Α	4.00	12.00
STS231	STS: DEVELOPING TEACHING I		3	Α	4.00	12.00
	TOTAL		27			103.50
GPA:		3.83	CGPA:	3.60		



UNIVERSITY OF EDUCATION, WINNEBA ST. LOUIS COLLEGE OF EDUCATION ACADEMIC AFFAIRS OFFICE



P. O. Box 3041, Mbrom-Kumasi

Email: assessment@slce.edu.gh Website: www.slce.edu.gh OFFICIAL TRANSCRIPT OF ACADEMIC RECORD

	YEAR 2 SEMESTER 2 RESULTS					
COURSE CODE	COURSE TITLE	CREDITS	GRADE	GRADE SCORE	GRADE POINT	
EBC244	INTRODUCTION TO LITERATURE IN ENGLISH	3	A	4.00	12.00	
PBB241	DIFFERENTIATED ASSESSMENT FOR UPPER PRIMARY	3	A	4.00	12.00	
PBI241	INTEGRATED SCIENCE II FOR UPPER PRIMARY	3	Α	4.00	12.00	
EBC245	LITERACY: TEACHING READING AND WRITING FOR UPPER PRIMARY	3	A	4.00	12.00	
PBM241	TEACHING ASSESSING MATHEMATICS I FOR UPPER PRIMARY	3	В	3.00	9.00	
PVB241	POLICY DOCUMENT AND SYLLABUS ANALYSIS IN PHYZ	3	A	4.00	12.00	
EBC243TW	STRUCTURE OF A GHANAIAN LANGUAGE	3	B+	3.50	10.50	
PBB242	PSYCHOLOGY OF LEARNING IN MIDDLE CHILDHOOD	3	B+	3.50	10.50	
STS241	STS: DEVELOPING TEACHING II	3	Α	4.00	12.00	
	TOTAL	27			102.00	
GPA:	3.	78 CGPA:	3.65			
	YEAR 3 SEMESTER 1 R	ESULTS				
COURSE CODE	COURSE TITLE	CREDITS	GRADE	GRADE SCORE	GRADE POINT	
PBI351	INTRODUCTION TO SCIENCE III FOR UPPER PRIMARY	3	Α	4.00	12.00	
PVB351	SPORTS PE MUSIC DANCE IN LOCAL GLOBAL CULTURE	3	Α	4.00	12.00	
EBC352	GUIDANCE AND COUNSELLING FOR UPPER PRIMARY	3	Α	4.00	12.00	
PBM351	TEACHING ASSESSING MATHEMATICS II FOR UPPER PRIMARY		A	4.00	12.00	
PBL351	LITERACY: CHILDREN'S LITERATURE	3	A	4.00	12.00	
EBC354TW	WRITTEN LITERATURE OF A GHANAIAN LANGUAGE	3	B+	3.50	10.50	
EBC353	ENGLISH LANGUAGE CURRICULUM	3	Α	4.00	12.00	
STS351	STS: EMBEDDING TEACHING 1	3	В	3.00	9.00	
	TOTAL	24			91.50	
GPA:	3.	81 CGPA:	3.68	.		
	YEAR 3 SEMESTER 2 RESULTS					
COURSE CODE	COURSE TITLE	CREDITS	GRADE	GRADE SCORE	GRADE POINT	
PBI 361	PREPARING TO TEACH UPPER PRIMARY SCIENCE	3	B+	3.50	10.50	
PBL361	LITERACY ACROSS THE CURRICULUM FOR EARLY GRADE	3	С	2.00	6.00	
PBE361	ENGLISH LANGUAGE AND CLASSROOM ORGANIZATION	3	A	4.00	12.00	
EBC362	INQUIRY AND ACTION RESEARCH (UPPER PRIMARY)	3	A	4.00	12.00	
PBM361	TEACHING AND ASSESSING UPPER PRIMARY MATHEMATICES (ADVANCED)	3	B+	3.50	10.50	
PBS361	CULTURAL LANDSCAPE AND FOOD PRODUCTION IN GHANA	3	C	2.00	6.00	
EBC363TW	ORAL LITERATURE OF A GHANAIAN LANGUAGE	3	A	4.00	12.00	
STS 361	STS: EMBEDDING TEACHING II	3	В	3.00	9.00	
	TOTAL	24			78.00	
GPA:	3.	25 CGPA:	3.61			
	YEAR 4 SEMESTER 1 R	ESULTS				
COURSE CODE	COURSE TITLE	CREDITS	GRADE	GRADE SCORE	GRADE POINT	
STS471	STS: EXTENDING TEACHING (INTERNSHIP)	6	В	3.00	18.00	
STS472	PORTFOLIO DEVELOPMENT	3	Α	4.00	12.00	
STS473	ACTION RESEARCH PROJECT	3	В	3.00	9.00	
	TOTAL	12			39.00	
	For verification co	ntaat				

For verification, contact assessment@slce.edu.gh



UNIVERSITY OF EDUCATION, WINNEBA ST. LOUIS COLLEGE OF EDUCATION ACADEMIC AFFAIRS OFFICE



P. O. Box 3041, Mbrom-Kumasi

Email: assessment@slce.edu.gh Website: www.slce.edu.gh OFFICIAL TRANSCRIPT OF ACADEMIC RECORD

GPA: 3.25 CGPA: 3.58

	YEAR 4 SEMESTER 2 RESULTS					
COURSE CODE	COURSE TITLE		CREDITS	GRADE	GRADE SCORE	GRADE POINT
EBC481	ADMINISTRATION AND MANAGEMENT OF UPPER PRIMARY SCHOOLS		3	B+	3.50	10.50
EBC482TW	TRANSLATION PRACTICE (TWI)		3	B+	3.50	10.50
STS 481	STS: EXTENDING TEACHING (POST INTERNSHIP)		3	A	4.00	12.00
	TOTAL		9			33.00
GPA:	3.	.67	CGPA:	3.59		

(ACADEMIC AFFAIRS OFFICER

ACADEMIC AFFAIRS OFFICER)

ACADEMIC AFFAIRS OFFICER

SILDUIS COLLEGEOFER

P. O. BOX 3041

KUMASI

GRADING SCHEME

BACHELOR'S DEGREE

GRADE	SCORE	GRADE POINT	REMARKS
A	80 - 100	4.00	Exccellent
B+	75 - 79	3.50	Very Good
В	70 - 74	3.00	Good
C+	65 - 69	2.50	Very Fair
С	60 - 64	2.00	Fair
D+	55 - 59	1.50	Satisfactory
D	50 - 54	1.00	Barely Satisfactory
Е	0 - 49	0.00	Fail

CUMMULATIVE GRADE POINT AVERAGE CLASS	
3.50 - 4.00	First Class
3.00 - 3.49	Second Class Upper
2.50 - 2.99	Second Class Lower
2.00 - 2.49	Third Class
1.00 - 1.99	Pass
0.00 - 0.99	Fail